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1,000 wos (U) = 1 Alawas (W)
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10° \wAL (deka) da 10" 1 (deci) d

10° wnla (hecto) h 10? \wud (centi) c

10’ fila (kilo) k 10* fiad (milt) m

10¢ wng (mega) M 10* lulas (micro) Y

10° Ane (giga) G 10” w1l (nano) n

10 w3 (tera) T 10" #ln (pico) P

10" e (peta) s 10" wixla (femto) f

10" 1enee (exa) £ 10" dnln (atto) a

10* Ry (zetta) Z 10% wUla (zepto) z

10 vanny (yotta) Y 10* ganla (yocto) y
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0.000005 135 (A) = 5x10° A = 5 lulasuenuils (uA)
0.000000003 (A5 (M) =3 x10° m = 3 MNIUINAT (nm)
0.007 tNAS (m) = 7x 10°m = 7 NANAS (mm)
5,000,000 IAA (W) = 5 x 10°W = 5 14pz IAA (MW)

9,000 12061 (V) =9x10°V = 9 Alallaa (KV)



